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- Office Hours Change (for the rest of the term)
   Monday’s office hours moved to:
   12:30 to 14:30 on Tuesdays

- Lab 4 due 3pm Friday March 13

- Automated regression testing



class 
   STUDENT
create
   make
feature -- kind-specific attributes
   rate: LINKED_LIST[REAL]
   tuition: LINKED_LIST[REAL]
   max: LINKED_LIST[INTEGER]
feature -- attribures
   courses: LINKED_LIST[COURSE]
   kind: INTEGER
feature -- command
   make (kind: INTEGER)
     do
       kind := a_kind
       rate :=  << 1.25, 0.75 >>
       max := << 6, 4 >>
       tuition := <<0.0, 0.0 >>
     end
   ...
end

get_tuition: REAL
   do
      across courses is c loop 
         tuition[kind] := 
            tuition[kind] + c.fee
      end
      tuition[kind] := 
         tuition[kind] * rate[kind]
   end

register (c: COURSE)
   do
      if courses.count = MAX then -- Error
      else courses.extend (c)
      end
   end

Design Attempt 2.5

Good design?
Judge by Single Choice Principle
- A new kind is introduced?
- An existing kind is obeselete?
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Desigh 3: 
Inheritance
Code Reuse

 Cohesion?
 Single Choice Principle?
 Collection of Students?
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With Inheritance (Design 3) Collection of Students

Q: What if more kinds of students are to be introduced?

class 
   STUDENT_MANAGEMENT_SYSTEM
feature -- attribures
   students: LINKED_LIST[STUDENT]
feature -- command
   add_student(s: STUDENT) 
      do 
         students.extend(s)
      end
   register_all (c: COURSE)
     do
       across students is s 
          loop
             s.register(c)
          end
     end
end

c: COURSE
rs: STUDENT
nrs: STUDENT
sms: SMS
create c.make(“3311”)
create sms.make

sms.add_student(rs)
sms.add_student(nrs)
sms.register_all(c)
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Static Type vs. Dynamic Type
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Student Classes (with Inheritance): Expectations
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Polymorphism: Intuition
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Dynamic Binding: Intuition
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7E67BACC28N7
feaWXUe ­­ TeVW CRPPaQdV fRU CRQWUacW VLROaWLRQV 
  WeVW_ZLWKdUaZ_SRVWcRQdLWLRQ_YLROaWLRQ 
        lRcal 
            acc: BAD_ACCOUNT_WITHDRAW 
        dR 
            cUeaWe acc.PaNH ("AOaQ", 100)
            ­­ VLROaWLRQ Rf PRVWcRQdLWLRQ  
            ­­ ZLWK WaJ "baOaQce_dedXced" e[SecWed 
            acc.ZiWhdUaZ (50) 
        end 

acc

BADBACC28N7B:I7HD5A:
feaWXUe ­­ RedefLQed CRPPaQdV 
  ZiWhdUaZ (aPRXQW: INTEGER) ++ 
        dR
            PUecXUVRU (aPRXQW)
            ­­ WURQJ IPSOePeQWaWLRQ
            baOaQcH := baOaQcH + 2 * aPRXQW
        end 

ACC28N7
feaWXUe ­­ CRPPaQdV 
  ZLWKGUaZ (aPRXQW: INTEGER) 
        UeTXiUe
            QRQ_QeJaWLYe_aPRXQW: aPRXQW > 0
            affRUdabOe_aPRXQW: aPRXQW � baOaQcH
        dR
            baOaQcH := baOaQcH ­ aPRXQW 
        enVXUe 
              baOaQce_dedXced: baOaQcH = Rld baOaQcH ­ aPRXQW 
        end 
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Adding Postcondition Tests
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Testing of Postcondition: Exercise
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